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Sentence Combining Quiz

Combine the following sentences as directed. There are several possible correct answers.

A. With a comma and coordinating conjunction

B. With a semicolon

English is easy. We really love it.

C. With a semicolon and a conjunctive adverb or a transitional phrase

D. By subordinating one of the clauses

A.

English is easy, and we really love it.
English is easy, so we really love it.

B.

English is easy; we really love it.

C.

English is easy; therefore, we really love it.
English is easy; as a result, we really love it.
English is easy; in fact, we really love it.
English is easy; moreover, we really love it.
D.

Because English is easy, we really love it.
Since English is easy, we really love it.

We really love English because it is easy.




